GCSE Maths Takeaway 11 - Multiplication and Division

Correct Answer: ABCD

Explanation:

An equation is shown.

3xi= +7

What number makes the number sentence true?
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Correct Answer: ABCD

Arithmetic Explanation:

Malik has 64 marbles.

He puts an equal number of marbles into each of 4 jars.
How many marbles are in each jar? | aaisasssssssssasssassassasasssassanaaa ittt
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Correct Answer: ABCD

What mistake has beenh made here?
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Written Methods of Correct Answer: ABCD
Multiplication Explanation:

answer to this
multiplication | e
problem?

3020
E 1491

Correct Answer: ABCD

Explanation:
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